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1. A square garden and a rectangular garden have the same area.

e The length of the rectangular garden is five feet more than twice length the length
of the side of the square garden.

e The width of the rectangular garden is six feet less than the length of the side of
the square garden.

Find the length of the side of the square garden.

Solution

Let x m be the length of the side of the square garden.
We can picture this as follows: Then

(x —6) m

rm 2z +5) m

Now, “square garden and a rectangular garden have the same area” so

(2z +5)(z — 6) = 2%

Next,
x ‘ 2x +5
x | 222 45z
—6 | =122z =30
SO

(22 4 5)(z — 6) = 22 = 222 — 7o — 30 = 2*
=2 —Tr—-30=0




add to: -7

multiply to: —30 } Fod )3

= (x—10)(z+3) =0
=r—10=0o0rxz+3=0

=1z =100r x = —3.
But x # —3 (as we are talking gardens!) so
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